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10 x 2 = 20 'A' 

10 (i)  

2 (ii)

(iii)

''Induced fit'' (Lock and Key) .1

ATPase .2

.3

(Genotype) (Phenotype) .4

F1 .5

.6

N 30% (Thymine) .7

% 

.8

Regd.
No.
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1Turn Over

SET - 



AUG .9

.10

Down-stream processing .11

.12

(Fermenters) .13

(Penicillin) .14

.15

6 x 4 = 24 'B' 

 (i)  

4 (ii)

(iii)

(iv)

.16

C4 C3 .17

.18

.19

.20

(Law of Segregation) .21

.22

.23

Bt .24
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Pest .25

DNA Transformation Griffith’s .26

.27

(Features) tRNA .28

 stem (b (a

3' (e 5' (d stem (c

RNA DNA .29

2 x 8 = 16 'C' 

(i)  

8 (ii)

(iii)

(iv)

(Calvin) .30

(Kreb) .31

DNA .32

(Sewage treatment) .33

_____________
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